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Loading Pictures I.: No Treatment

rimage = video_read_imc_file(FileName)
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Loading Pictures |l.: Adapted to PITZ CS

rimage = readnflip(FileName)
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Loading Pictures |l.: Adapted to PITZ CS

rimage = readnflip(FileName)
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Loading Pictures |l.: Adapted to PITZ CS

rimage = readnflip(FileName)
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MK: Phase space reconstruction: summary

o Step 1:
Horizontal centering of the phase space

( )Whereo Actuator movement

correction
o Step 2:
Vertical centering of the phase space
« ) ) where —_—
( ) ( ( ) ¢ ).

o Step 3: Correction for screen orientation

Interpolating (extrapolating) of each beamlet profile () over the
unique (for all beamlets) divergence grid



Thermal Emittance -Y
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Laser: Plot system ver.  May 31 2011 15:22:31
rms size <x=0.27899, <y’,=0.26592, [mm]

Electron beam:

Momentum gun: 6.49200 10.0327, [MeVic]

Mamentum boa: 6.49200 10,0327, [MeVic]
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Lagar: . Rlul s.,-,le... wer. My 31 2011152211
rms size <¥>=0.27899, <y’5,=0.26592, [mm]
Electron beam:
Momentum gun: 649200 _0.0327, [MeVic]
Momentum boo: 6.49200 =0.0327, [MeVic]
Tyag 1.72400 [mm]
Tacan 1.41202 [mm]
divergence 057706 [mrad]
covariance 0.80928 [mm mrad]
shearead div 0.09481 [mrad]
scaled
Fsheared 1-385 [mm mrad]
o 1.204 [mm mrad]
F%Baled 1.471 [mm mrad]
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Thermal Emittance: X - phase space
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Laser: Plol syslemwer. May 313011 15,2231
rms size <x=F0.27899, <y'==0.26592, [mm]
Electron beam:
Momentum gun: 6.49200 _0.0327, [MeVic]
Momentum boo: 6.49200 =0.0327, [MeVic]
Tyag 1.72400 [mm]
Tacan 1.41202 [mim]
divergence 0.57706 [mrad]
covariance 0.280928 [mm mrad]
sheared div 0.09481 [mrad]
scaled
Fs.hearec:l 1.385 [mm mrad]
qgscaled 1.204 [ITII'I'I mrad]
gsgaled 1471 [mm mrad]
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Thermal Emittance: Y - phase space
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basas Flataystem ver, May 31 2011 15:22:31
rms size <@>=0.27899, <y’2,=0.26592, [mm]
Electron beam:
Momentum gun: 6.49200 10,0327, [MeVic]
Momentum boa: 6.49200 10.0327, [MeVic]
Cyag 190400 [mm]
Tagan 162664 [mm]
divergence 052200 [mrad]
covariance 0.85417 [mm mrad]
sheared div 0.08975 [mrad]
caled
heared 1.267 [ITIITI mrad]
ghescaled 1.140 [mm mrad]
gggaled 1.335 [mm mrad]
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2nC: X - phase space

20110502N_2.0mm/Stat01

#2000

22208

20000

Comments: EMSY1X_3344 2011 05 03 01 58 25 fromSs T0-1070_00_fast

Inain = 393.6, [A], Q = 2.079 + 0.017, [nC]
= Slit |, .=X; 3 pulses; ihi s , = 1120
1.6 o —]
16— =
|
E_- = —|
£r
1 _— =
L el L L |
X3 1.5 2 3
X, [mm|
Results I
Plot syslsmwer. Fab 17 2001 185:41:45
Laser: _ e g
rms size <x"=,=0.50055, <y =,=0.49428, [mm]
Electron beam:
Momentum gun: 6.70400 + 0.0278, [MeVic]
Momenium boo: 24.73100 + 0.0840, [MeVic]
T 035780 [mm]
Oorann 0.31650 [mim]
divergence 0.20017 [mrad]
covariance -0.05629 [mm mrad]
shearad div 0.02006 [mrad]
led
i 1.357 [mm mrad]
scaled
i 1.406 [mm mrad]
led
g 1.589 [mm mrad]




2nC: Y - phase space
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Lﬁer: Plot syslsmwer. Fab 17 2001 185:41:45
rms size <K"2,=0.50055, <y"=,=0.40428, [mm]
Electron beam:
Momentum gun: 6.70400 + 0.0278, [MeVic]
Momenium boo: 24.73100 + 0.0840, [MeVic]
T 0.50010 [mm]
al 0.42802 [mm]
divergence 0.27186 [mrad]
covariance -0.11260 [mm mrad]
sheared div 0.02599 [mrad]
scaled
i 1.541 [mm mrad]
scaled
e 1.403 [mm mrad]
scaled
[ 1.669 [mm mrad]
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